X 1-1

#include <stdio.h>

int main()

{
int a,b,c;
double d;
scanf("%d%d%d",&a,&b,&c);
d=(double)(a+b+c);
printf("%.31f\n",d/3.0);

return O;

X 1-2

#include <stdio.h>

int main()

{
int f;
double c;
scanf("%d", &f);
c=5%(f-32)/9;
printf("%.3If\n",c);

return 0;

/X 1-3

#include <stdio.h>

int main()

{
intn;
scanf("%d",&n});
printf("%d\n",(n*(1+n))/2);
return 0;

> 1-4
#include <stdio.h>
#include <math.h>



#define pi 4.0%atan(1.0)

int main()

{
intn;
scanf("%d",&n);
printf("%If\n" sin((pi*n)/180));
printf("%If\n",cos((pi*n)/180));
return O;

/X 1-5
#include <stdio.h>

int main()

{
double x1,y1,x2,y2,a;
scanf("%If %lIf %If %If",8&x1,&y1,8x2,&y2);
a=sqri((x1-x2)*(x1-x2)+(y1-y2)*(y1-y2));
printf("%If\n",a);
return 0;

2 1-6
#include <stdio.h>

int main()
{
intn;
scanf("%d",&n);
if(n%2==0)
{
printf("YES\n");

printf("NO\n");
}

return 0;

% 1-7

#include <stdio.h>



int main()
{
intn;
double a;
scanf("%d",&n);
a=n*95.0;
if(a<300)
{
printf("%.21f\n",a);

printf("%.21f\n",a*0.85);
}

return 0;

2 1-8
#include <stdio.h>
#finclude <math.h>
int main()

{
double n;
scanf("%If",&n);
printf("%.2If",fabs(n});
return 0;

X 1-9

#include <stdio.h>

int main()
{
int a,b,c;
scanf("%d%d%d",&a,&b,&c);
if(a==b&&b==c)
{
printf("no\n");
}
if((a*a+b*b==c*c)| |(a*a+c*c==b*b)| | (b*b+c*c==a*a))
{

printf("yes\n");



else

printf("no\n");
}

return 0;

% 1-10

#include <stdio.h>

int main()

{

intn;
scanf("%d",&n);
if(n%4==0)
{
if(n%1001=0)
{
printf("no\n");
}

else
{
if(n%400==0)
{
printf("yes\n");

printf("no\n");

}

else
{

printf("no\n");
}

return O;



> 2-1

ttinclude <stdio.h>
int main()
{
int n,count=0;
scanf("%d",&n);
while(n>0)
{
count++;
n=n/10;
}
printf("%d\n",count);
return 0;

> 2-2

#tinclude <stdio.h>
int main()
{
int a,b,c;
for(int i=100;i<=999;i++)
{
a=i%10;
b=i/10%10;
c=i/100;
if(i==a*a*a+b*b*b+c*c*c)
{
printf("%d\n",i);

}

return 0;

> 2-3

#finclude <stdio.h>
int main()

{



inti,a,b,c;
scanf("%d%d%d",&a,&b,&c);
for(i=10;i<=100;i++)

{
if(i%3==2&&i%5==h&&i%7==c)
{

printf("%d\n",i);

}

}

if(i==101)

{
printf("no answer\n"});

}

return 0;

>l 2-4

t#tinclude <stdio.h>

int main()

{
intij,k,n;
scanf("%d",&n);
for(i=n;i>0;i--)

{
for(k=0;k<n-i;k++)
{
printf(" ");
}
for(j=0;j<2*i-1;j++)
{
printf("#");
}
printf("\n");
}
return O;

>t 2-5
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> 2-6

#include <stdio.h>

int main()

{

inti,n;
double sum=1.0;
scanf("%d",&n);
for(i=2;i<=n;i++)
{

sum+=(1.0/i);
}
printf("%.3I1f\n",sum);
return 0;

> 2-7

#include <stdio.h>

#finclude <math.h>

int main()

{

int t=-1;
double a=1.0,sum=1.0;
while(fabs(a)>=0.000001)
{
a=1.0/(a+2);
a=a*t;
sum=sum-+a;
t=t*(-1);
1
printf("%.91f\n",sum);
return 0;

> 2-8

#include <stdio.h>

int main()

{

inti,n,m,temp;



double sum=0;
scanf("%d%d",&n,&m);
if(n>m)

{
temp=n;
n=m;
m=temp;
}
for(i=n;i<=m;i++)
{
sum=sum-+(1.0/i/i);
}

printf("%.51f\n",sum);
return 0;

>t 2-9
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char ch[20];

printf("%*.*s\n",m,n,ch);
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#include <stdio.h>

int main()

{

int a, b, c;

scant ("%d%d%d”, &a, &b, &c) ;
printf ("% #1f\n", ¢, (double)a/b) ;

return 0;

> 2-10

#include <stdio, h>

int main()

{

ix



int a,b,c,d, e, f, g, h,i;
for(a=1;a<=9;att)
{
for (b=1;b<=9;b++)
{
for(c=1;c<=9;c++)
{
tor (d=1;d<=9;d++)
{
for(e=1;ed=9;e++)

I
1

For (f=1;1<=9;1++)
{
tor (g=1;g<=9;g++)

{

for (h=1;h<=9;h++)
{
tfor(i=1;1<=9;1i++)

{

it (2% (ak100+b*10+c) ==1% (dk100+ex10+1) ) && (3% (a1 00+b*10+c)==1% (gk1 00+hx10+i) ) &
&(a!=b)&&(a!=c)&k (a!=d) &k (a!=e) && (a!=1) && (a!=g) && (a!=h) &k (a!=1) && (b!=c) && (b!=d) && (b
I=e) &k (b!=1)&& (b!=g) && (b!=h) && (b!=i) && (¢ !=d) && (c!=e) && (¢ !=1) && (¢ !=g) && (c!=h) &k (c!=i
Y&k (d!=e) &k (d!=1) &&(d!=g) && (d!=h) && (d!=1) && (e!=1) && (e!=g) && (e!=h) &k (e!=i) && (1 !=g) &&
(f!=h)&& (!=1) && (g'=h) && (g!=1) &k (h!=1))

printt (“%d, %d, %d\n", a*x100+b%10+c, d%100+e*10+f, gx100+hk10+1) ;
1



&
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#include <stdio.h>

#include <string.h>

int main ()

{
int i,all01], n, max;
memset (a, sizeof (a), 0) ;
while (scant ("%d”, &n)==1)

{

a[n]++;
}
max=a[0];
for(i=1;i<101;i++)
{
it (ali]>=max)
f

L

max=alil;

1
tfor (i=0;1<101;1++)

I
L

if(ali]==max)
{
printt (“%d ”, i) ;

b
printf("\n");

return 0;

#include <stdio. h>
#include <ctype. h>
char s[1000];



int main()

char ch;
int i, j, m=0, sumlong=0, count=0;

while(l)

I
L

scanf ("%¢”, &ch) ;
it (ch=="\n"| |ch==E0F)

{
break;
}
else
{
s[m++]=ch;
}
}
for (i=m-1;i>0;i—)
{

if(s[i]l==" "&ks[i-1]==" ")
{

for (j=i-1; j<m1; j++)

)

1

slil=s[j+1];

tor (i=0;i<m;i++)
{

if(isalpha(s[i]))

I
1

sumlong++;

1
else if(s[il=" ")
I
L

count++;

1
I

printt (“%. 21f\n", (double) ((sumlong+count+l)/(count+1)));

return 0;



10 3-3(FE ! ! !

#include <stdio. h>
#include <{ctype.h>
Hdefine mod 1000
char s[10000] ;
char buf[10000] ;
int main()

{

int 1, m=0, n=0, sum=1I;

char ch;
while (1)
S
scanf ("%c”, &ch);
If(ch==FOF//ch=="|n")

break;

|1

else

sim++]=ch;

il

for(i=0;i<m; i++)

.

if(isdigit(s/[i]))

buf[n++]=s[i]-"0";

L)L

for{(i=0;i<n; i++)

.

sum=sum*buf{i];

g

printf("%d\n”, sun¥mod) ;

return 0;

[



>t 3-5

#include <stdio.h>
char a[1000][1000];
int main()
{
int i, j,n;
scant ("%d”, &n) ;
scant (" ) ;
char temp;
for(i=0;i<n;i++)
{
for (j=0; j<n; j++)

1
L

scant ("%c”, &alil[j]);

}
for (i=0;i<n;i++)

I
L

for(j=i;j<n; j++)
{
temp=ali] [i];



alilljl=aljl[i];
aljllil=temp;

§
for(i=n-1:i>=0:;i--)

I
L

for (j=0; j<n; j++)

{
printt ("%c “,alil[j]);
1
printt("\n");
}
return 0;

>t 3-6

#include <stdio.h>

int main()

1
L

int b,n, m=0;
char p[100];
scant ("%d%d”, &b, &n) ;

while (b!=0)

I
L

p [m++]=b%n+ 0" ;
b=b/n;

t

for (int i=m—1;i>=0;i--)

I
L

printt' ("%c”, plil);
f
printf("\n");

return 0;

> 3-7

ginclude <stdio.h>
int ndje(int n,int m)
{

int i,a=1;



for(i=0;i<n;i++)

I
1

a¥=m,
1
return a;
i
int main()
{
int i, b, n, p[100], m=0, a=0;
scant ("%d %d”, &n, &b) ;

while (n>0)

I
!

p [m++]=n%10;
n=n/10;
}
m—;
for(i=m;i>=0;i—)
{
at=p[il#*ndjc(i, b);
1
printt ("%d\n", a) ;
return 0;

>] i 3-8



